Lattice Multiplication (J)

Use lattice multiplication to find each product.

7 0 1 9 8§ 4 1 5
2 7
1 1
9 4
0 8
5 8
7019 x 21905 = 8415 x 71488 =
4 9 4 8 5.2 1 5
6 7
7 0
1 8
3 3
6 8
4948 x 67136 = 5215 x 70838 =
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Lattice Multiplication (J) Answers

Use lattice multiplication to find each product.

7 0 1 9 8 4 1 5

1 0 0 1 ) 5 2 0 3 7
1 4 0 2 8 6 6 8 7 5

0 /10 10 10 7] 4 0 /10 /10 10 /] 4
5 7 0 1 9 0 8 4 ] 5

6 0 0 8 9 3 ] 0 2 4
3 3 0 9 1 1 2 6 4 0

0 0 0 0 0 6 3 0 4 8
7 0 0 0 0 5 4 2 8 0

3 0 0 4 5 6 3 0 4 8
5 5 0 5 5 7 4 2 8 0

1 1 9 5 1 5 2 0

7019 x 21905 = 153,751,195 8415 x 71488 = 601,571,520
4 9 4 8 5 2 1 5

2 5 2 4 6 3 1 0 3 7
3 4 4 4 8 3 5 4 7 5

2 6 2 5 7 0 0 0 0 0
3 8 3 8 6 6 0 0 0 0

0 0 0 0 1 4 1 0 4 8
2 4 9 4 8 9 0 6 8 0

1 2 1 2 3 1 0 0 1 3
1 2 7 2 4 4 5 6 3 5

2 5 2 4 6 4 1 0 4 8
8 4 4 4 8 2 0 6 8 0

8 9 2 8 0 1 7 0

4948 x 67136 = 332,188,928 5215 x 70838 = 369,420, 170
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